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QUESTION 1

A customer uses an HP Enterprise solution with Microsoft Windows Server hosts. The hosts unexpectedly lose
connection to the tape devices. What should the customer enable on the hosts to ensure reliability?

A. plug and play devices
B. tape discovery

C. persistent bindings

D. Microsoft signed drivers

Correct Answer: C

QUESTION 2

A company with five Proliant servers needs a cost-effective data protection solution. The need to simplify daily backup
management tasks while providing an offsite disaster recovery plan. They also need to optimize backup reliability by
minimizing the chance of human error and hardware failure. Which type of data protection solution should they use?
A. disk-to-disk-to-tape (D2D2T)

B. tape autoloaders

C. disk storage with RAID 6

D. federated deduplication

Correct Answer: D

http://www.bitpipe.com/detail/RES/1350508250_521.html

QUESTION 3

A customer is planning an implementation of HP Data Protector. The clients will be deployed with installation servers.
The customer environment includes Windows, Solaris and Linux operating systems. How many installation servers are
required?

A.0

B.1

C.2

D.3

Correct Answer: C
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Installation Server

The Installation Server holds a repository of the Data Protector installation packages for a specific
architecture. The Cell Manager is by default also an Installation Server. At least two Installation
Servers are needed for mixed environments: one for UNIX systems and one for Windows systems.

QUESTION 4

A customer currently performs full backups to disk every week. They want less space to be used for each backup.
Which strategy uses the least amount of space?

A. incremental backups
B. synthetic full backups
C. virtual full backups
D. differential backups
Correct Answer: A

An incremental backup provides a backup of files that have changed or are new since the last incremental backup or full
backup http://support.microsoft.com/kb/136621

QUESTION 5

Which benefit does zoning provide for a customer who uses multi-hosted tape devices?
A. increased backup speeds

B. reduced troubleshooting time

C. increased compression ratio

D. reduced response times

Correct Answer: B
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